
@ ARKA JAIN University, Jharkhand
l.t Semester End Semester Examination - 2O{9-2O

Subject : Discrete mathematics

Time: 3 Hours
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Course: BCA
Full Marks: 70
Pass Marks: 28

r Candidates are required to give their answers in their own words as far as practicable.
o Question Paper is divided into Three Parts -A, B & C
o Part-A is compulsory.
r Part- B contains SIX questions out of which FOUR questions are to be answered.
o Part- C contains SIX questions out of which THREE questions are to be answered.
o Part.D is compulsory

PART A

Q1.) AII questions are compulsory:-

Al Objective Answer Type

i) lf set having' n' number of elements then total no of improper subset will be

a) Tn-z
b) 2n -2
c)2
d) none ofthese

ii) let A be the set of all lines in a plane then the relation R=t(lr, l):11 L l2j is

a) reflexive
b) symmetric
c) transitive
d) None of these

iii)if the function f: R--+ R and f(x)=[x] is then range will be

a)R
b) R+

c)z
d) none ofthese

iii) How many 3-digits numbers are there with no digit repeated ?

a) 568
b) 648
c) 330
d) None of these

v) if n is natural number then 13 + Zz + 32 ... ... .'n2 rs equal to

a) rye
b) 3e's#Il!
c) {ry!}'
d) None of these

Bl Short Answer I'ype

i) Define partition of set?

ii) Define Universal quantifier?

(5x1=5)

(5x2=10)

BCA - 1't Semester Final Exam -20t9'2}l AJU, Jharkhand



(3x10=30)

iii) If A={1,{0}} findp(A)
iv) Define degree of vertices?
v) In how many ways can 4 letters be posted in 3 letter boxes

: panr n
Q2.) Answer any four: (4x5=20)

i) Using principal of mathematical induction prove that (32n*2-gn-9) is divisible by gii) e committee of 5 is to be formed out 6 men and 4 ladies. ln how many ways can this can be done when
(a) At least 2 ladies are included .

(b) At most 2 ladies are included?
iii) Let f:Q-r Q: f @) = 3x - 5 show that f is invertible and find f1
iv) Define conditional and biconditional statements with truth table? Also define converse,

inverse and contra positive, ol p-+ q.
v) find the value of f(1),f(2),f(3),f(4), and f(5) if f(n+1)=3f1n) is defined recursively by f(0)=1 and for

n=O,L,2,3.....,
vi) tn a single throw of two dice, find the probability that neither a doublets nor a total of 10 will appear.

vii) Find the gcd of 119 and272.also express the gcd as a linear combination of 1 L9 and,272.

PART C
Answer any Three:

Q3.) State.and prove that de Morgan,s theorem in general form?

Q4.) . Let f:X+ Y be a mapping and let A, B cy. then

Prove that (i)/-1(nn B) - f -L(A)n f -L@)

(ii) /-1(Au B) - /-1(n)u f -t@)

Q5.) prove that the relation' congruence modulo n' in the set of integers is an equivalence retation?

Q6.) there was two bags I and bag II. Bag I contains 3white and 4 black balls and BagII contains 5 white

6 black balls. one ball is drawn at random from one of the bags and is found to be white. Find the

hobability that it was drawn from bag I?

Q7.) If the binary operation* on set of real numbers defined by a* b=a+b+ab show that it is

i) Commutative
ii) Associative
iii) Find identity and inverse elements

QE.) show that each of the following is tautology

(i) lpn (p - q)l- q
(ii) I(p - q) n(q - r)l - (p -r)

PART D

Q9.) Consider the experiment of tossing a coin. If the coin shows head, toss it again but if (5xl=5)
It shows tail, then throw dice. Find the conditional probability of the event that the die shows number
greater than 4 given that there is at least one tail.
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ARKA JAIN University, Jharkhand
{ct Semester End Semester Examination - 2O{9-2O

Subject: Programming in C

Tirne: 3 Fiours

Course: BCA

FullMarks: 70
Pass Marks: 28
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Candidates are required to give their answers in their own worc1s as far as practicable.

Question Paper is divided into Thnee Parts -A,B& C

Part-A is compulsory.

Part' B contains SIX questions out of which FOUR questions are to be answered.
Part'C contains SIX questions out of which THREE questlons are to be answered.

PART A
Ql.lAll questions are compulsory:-

A] Obiective Answer Type

i) C programs are converted into machine language with the help of
a) An Editor
b) A compiler
c) An operating system
d) None of the above

(10x1=10)

ii) Which is correct with respecr ro size of the datatypes ?

a) char ) int ) float
b) int > char > float
c) char ( int < double
d) double ) char ) int

iii) Which of the following isiare synractically correct?

a) forO;
b) for(;);
c) for(,);
d) for(;;);

iv) Which of the following comments about union are true?

a) Union is a sffucture whose members share the same storage atea
b) Size allocated for union is the size of its member needing the maximum storage
c) Only one of the members of union can be assigned a value at a particular time
d) All of these

- 
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v) which of the following 'c' type is not a primitive data structure? .

b) Float

c) Char

: d) None ofthese

vi)The variables which can be accessed by all

a) local variables
b) internalvariables
c) external variable
d) Globalvariables

,

modules rn a program, are called

vii)A function that uses variable types is called

a) Overloaded
b) Template Function
c) Variable function
d) Virtual function

viii) Standard ANSI C recognizes _ no of Keywords

a) 30

b) 3?

c) 24

d) 36

ix)Prototype of a function means

a) Name of Function
b) Output of Function
c) Declaration of Function
d) Input of a Function

x) lf you pass an array as an argument to a function , what actually gets passed?

Value of elements in array
Address of the last element of array
First element of array
Base address ofthe array

a)

b)

c)

d)
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Bl Short Answer TYPe

i) What is oPerators?

ii) What is structure?

(5x2=10)

iii) Why we usei Print function and Scan function in c?

iv) What do you mean by recursion in c?

v) What is function PrototYPe?
PART B

A2.l Answer anY four:
(4x5=20)

i) What is array? How many types of arrays' Explain it in detail

ii) Explain about the pseudo code statement and flowchart symbol in details"

iii) Write a prCIgram in c to find the Simple interest'

iv) Explain about the program development cycle with the help of diagranr'

v) Discuss about the types of programming language '

vi) Write a Program in c to perform the swappingof 2 numbers'

PART C

Answer anY Three:
(3x10=30)

Q3.)Whatdoyoumeanbydatatypesinc?Explainitindetails:
e*.)what is Function in c? Explain about the function definition , function declaration and function call

with the helP of Program.

Qs.)what do you mean by file handling in c? How we create, read and delete text files?

Q6.)WhatdoyoumeanbyFunctioncallbyvalueandcallbyreference.Explainwiththehelpof

U.illfi* about the For, white and do-white loop in c. Explain its tvpes in detail with the help of

Programming
Q8.) what do you mean by Pointers in c ? write a pr'f,gram in c to demonstrate the working of pointer'
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ARKA JAIN UniversitY, Jharkhand
l.t $emester End Semester Examinatlon - 2O19'2O

Subject: Basic Computer Engineering
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Course: BCA

FullMarks:70
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Candidates are required to give their answers in their own words as far as practicable'

Question Paper is divided into Three Parts -A'B& C

Part-A is comPulsory.

part- B contains SIX questions out of which FOUR questions are to be answered'

part- c contains slx questions out of which THREE questions are to be answered'

PART A

Ql.)Alt questions are compulsory:-

Al Obiective Answer TYPe

l.Inwhichgeneration,theuseoftransistorwa^sintroduced?
a. 1" generation

b. 2nd generation

c. 3d generation

d. 4h generation '

How manY tYPes of logic gates?

a.3
b.2
c.5
d.7

Which of the following is not a part of the CPU?

a. Control unit
b. Logic unit
c. Registers
d. Main memory

Which device is known as Pointing device?

a. Mouse
b. Printer
c. Monitor
d. Keyboard

5. How many layers are there in TCP/IP network model?

a.4
b.5
c.3
d.7

6, Which of the memory uses ultraviolet light toerase the content?

a. RAM
b. ROM
c. PROM
d. EPROM

(10x1=10)

2.

4.
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7 . Which of the following is a privately owned network?a. LAN
b. WAN
c. MAN
d. Internet

8. Which of the following is example of the pointing device ?a. Mouse
b. Trackball
c. Joystick
d. AIi of the above

9. Which of the following is a messaging protocol?a. HTTP
b. SMTP
c. RDp
d. Talent

f O. Wfrictrfll$: following is nor known as primary memory?

b. Cache
c. ROM
d. Main

Bl Short Answer Type
(5x2=19;

a,

b.

c.

d.

e.

What is instruction set and instruction format?
I!u, is application and syste*,oftW*.2
What do you mean by hardware and software?
What do you mean by dara.o*-uriraiiorz
Define switching.

Q2.) Answer any four:
PART B

(4x5=20)
i) 

[j;1ij: 
programming ranguage? How many rypes of programming languages. Explain in

ii) Solve the following conversions
a) (25)s+( ),
b) (1000), -)( ),0
c) (40.s2)rc)O,
d) (l 101.1 l0t)2-)( ),6
e) (0t000t0t rL +( I

iii) What is memory ..Briejly describe rhe types of memory.iv) whar is input device. exprain anf tru-o typ"s of inpur devices in details.v) what is Network topotogy. nxpuin atr ,rr" oirr"."."rr rvp"r'orn"twork topology.vi) what is computer program? Eiprain th. r"atu.es;i;;;;r"gramming ranguages.
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PART C

Answer any Three: (3x10=30)

Q3.)Design the Basic and Universal logic gates with their truth tables.

Q4.)What is computer? Explain all the generations of computer.

Q5.)What is Operating system? How many types of operating system. Discuss in detail

Q6.)What is Elecronic mail? How E-mail works.

Q7.)What is computer virus. How many types of computer viruses.

Q8.) Write short notes on

a) Transmission Media
b) Optical disk
c) Monitor
d) cPU
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ARKA JAIN UniversitY, Jharkhand
l,t Semester End Semester Examination - 2O{8'{9

Course: B.Cor/BCA/PA
Full Marks: 35' Pass Marks: 14

Subject: Hindi

Time: 2 Hours

Candidates are required to give their answers in their owrr words as far as practicable'

Question Paper is divided into Three Parts -A, B & C

Part-A is comPulsorY.

part- B contains FouR questions out of which THREE questions are to be answered'

part- c contains THREE questions out of which TWO questions are to be answered'

Q.1) All questions are compulsory

Al MultiPle Choice Questions :

(i) nlFiE Bs rr;q t' t ?

PART A

13rflr{cis

qdTlrfr

* drE +qr dcitr t
Er Hrfir -qrdr

qe{r$ -crf,fr

(4x1=4)

6'fd6R

er sftRTreel

(iD 3rs{€r:il-t qr+r

6',EIq-t&

(iii)

(iv)

TT E3TT-qItTT.'

rrrqrt fd?rd fH-d fus *.flfr 6T qH t ?

fi'riT Et qtrtrdr

er AF'q(TT;TTTT6E EIF|ErE

qrrnEr srfero fir 6t4 ftn t ?

6'66rff s 6frKn

eTdre?fi' q{dilfrtfr}$;rff

Ql (B) . Very Short question (2x2=4)
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(i) $e|pqagfit :ftqm' Btt {rfut, srrrfl g-a 6rdrs
Br qr;fr srga Rar, ffia fit g6R, ll(ii) frl;Tfrfuaqrdtdrfiq:qffi erqfr&

Eh-'JftrFT{

cr $Ee[r

PART B

Q2. Answer any three

(i) :tt|+qsemt:-

1) firilT{ *'arar 6r go *ft EFm afuft ?ft,

arffi at-q,frdr fI *,Sara 3riffi eft

;mn * *rr q6-fr S * arar * #rr d-fr pfi

En6,615tr, Tqrur,fiert, rsfi .rfi rrp6 qft,

+{ FrErfr 6I ,nert Trrfi znq vErfi S,
Sfe Ercrdt t;Iil FJri g_fi 6.6Ffi ?fi,

qF aS a-&fr dr d Htfi Erft rrfi efir

2) Irqr$ #r qfteTrqr fu r ra* slqlst rerrrur sfra fud r
3) ffif,?re(frd :-

ffi'3rqfrrfr q3GrRr asq Er3{EEnn s3TrlIrd6.

(iv) Rfarur eJEqrrns 6-{e E wrfl-{Ff *' qrs $rnff qr frB(,

Answer any two:
tuiqfre

PART C

(3x5= 15)

(6*2= ll)

3.

4.

Esg(rd,frilrmr 3rqqr ffiilra Erql;r{n fiBtnq
ffifra erdErEfr mr ffi fr' rg+rc +t

Head Clerk
Controller
Recourses

Loss

Policy Holder
Rate

s. d'r *-flff+"r+nriqrfu.

(i)
(ii)
(iii)
(iv)
(v)
(vi)
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Time:3 Hours

Course: BCA
Full Marks:70
Pass Marks: 28

Candidates are required to give their answers in their own words as far as practicable.
Question Paper is divided into Three Parts -A,B& C
Part-A is compulsory.

Part' B contains SIX questions out of which FOUR questions are to be answered.
Part' C contains SIX questions out of which THREE questions are to be answered.

PART A
Q.l) All questions are compulsory

Al Multiple Choice Questions:
i. The most important goal of Business communication is

a) Favorable relationship between sender and receiver.
b) receiver response
c) organizational goodwill
d) receiverunderstanding

ii. The study of communication through touch is
a) Haptic
b) Semantics
c) Chronemics
d) None of the above

iii. Appeals and representations are used in

(10x1=10)

communication.
a) Horizontal
b) Downward
c) Visual
d) Upward

iv. Which one of the following best describes grapevine as a communication pattern?
a) Diagonal
b) Informal
c) Serial
d) Verbal

v. The principle of effective writing includes
a) Accuracy
b) Clarity
c) Brevity
d) All of the above

vi. To decode a message is to
a) Translate ideas into code
b) Interpret a message
c) Reject a message
d) Evaluate a message

vii. The ability to communicate effectively is
a) a hard skill
b) a soft skill
c) a medium skill
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ix
a)
b)
c)
d)
X
a)
b)
c)
d)

d) not a skill at all
vlll a more powerful agent of persuasion and control.

a) Speech :

b) Speaker
c) Receiver
d) decoder

is quite a physical barrier to communication
Noise
lnterpretation of words
Decoding
Aandb

the effort to influence the attitude, feeling or beliefs is
Suggestion
Instruction
Persuasion
Motivation

Bl Very Short question

a) How does informal communication helps in solving problem in an organization?
b) what is an effective communication?
c) Explain the role of Feedback in the procedure of communication.
d) Explain whether the following sentence is grammaticaily right or wrong:

'The cat sat beside me drinking coffee.'
e) Describe two types of non-verbal iommunication

(5x2=10)

PART B

Q2. Answer any four: (4x5=20)

1. How is oral communication more effective than written form of communication?
2. Listening is an important element in communication. Elaborate.
3. Explain diagrammatically the process of communication.
4. Differentiate between the given homonyms by using them in a sentencel

a. Leave; leave
b. [ncite, Insight
c. Beat, beat
d. Knew*new
e. Rain, Reign

5. Discuss grapevine communication.
6. What do you understand by psychological barrier? How does it affect the process of

communication?
PART C

Answer any three:
l. Write a story on:

(3x10=30)

"Riya was going to the college and on her way to the colIege..............,'
2. Define verbal communication. Explain its advantages and disadvantages.
3. How can you further classify formal and informal communication?
4. Business communication is the nervous system of any organization. Explain?
5. Discuss merits and demerits of oral and written communication. Explain what tlpe of

communication do you prefer.
6. suggest come methods to overcome barriers of communication

- 
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Subject: ITA

Tims 3 Hours

Course: BCA

Full Marks: 35

Pass Marks: 14
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Candidates are required to give their answers in their own words as far as practicable.

Question Paper is divided into Three Parts -A,B& C

Part-A is compulsory.

Part- B contains SIX questions out of which FOUR questions are to be answered.

Part- C contains SIX questions out of which THREE questions are to be answered.

PART A
q1.)All questions are compulsory:-

Al Objective Answer Type

i) Who is known as the father of Modern Computer?

Charles Babbage
Alan Turing
Isaac Newton
None of the above

ii) Who is the inventor of "Difference Engine"?
a) Alan Turing
b) Charles Babbage
c) Simur cray
d) Augusta adaming

iii) ln howmany phases the evolution of lT industrywas occurred?
a) 1

b) 2

c) 3

d) 4

iv) Who was known as the first computer programmer?
a) Ada Lovelace

b) Alan Turing
c) Charles Babbage
d) lsaac Newton

v) ln which year Charles Babbage was born
a) 7797
b) 1se1
c) 1891

d) 1792
vi) The Y2K problem was occurred in which year

2000
2001

(10x1=10)i)

a)

b)
c)

d)

a)
b)
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c) 2002
d) 2004

vii)In which year government formulated software policy

a) 1991
b) 1986
c) 1987
d) 1992

viii) The life cycle of business / IT company comprises of

a)5
Uq
c)6
d)7

lx)In which year Ada Lovelace was died

a) tSsz
b) 18s4

c) 1853

d) 1851

x) Alan Mathison Turing was bor"n in

In 1911

In l9l2
In 1954
In 1945

PART C

Answer any Three:

Q3.)Discuss about the life, invention and challenges of charles Babbage?

PART B

a2.) Answer any four: (4x5=20)

Explain the Scope of Technology?
what are the advantages and disadvantages of lnformation Technology. Explain it in details
Describe the phases of Technology?

What are the main functions of lnformation Technology?
What do you mean by y2K problem of tT industry?
Name some of the important lr companies in lndia with their working environment.

a)

b)

c)

d)

i)

ii)

ii i)

iv)

v)

vi)
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